Object-Oriented Analysis and Design

Team 5 : RDM Watch(Random Decision Making)

2050. Object-Oriented Implementation
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2051.
Source Code +
Class Diagram + Demo Video



Source Code

Github address:
https://github.com/feuziq47/softwarev-v



https://github.com/feuziq47/softwarev-v
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http://drive.google.com/file/d/1bBThePryR0gqSp6sr6W0xXBmsiKUbkVD/view

2052,
Testing



01. Set Current Time

TimeKeepingTest {

@rest
) setCurrentTime(){
RDMSystem rdm = RDMSystem() ;
LocalDateTime testLDT;
temp = 0;

I tmpl = tmp2 =
rdm.decodeButtonInput(

tmpl = rdm.isSettingMode();|

rdm. decodeButtonInput( };

testLDT = LocalDateTime.now()

temp = rdm.getTimeKeepingCurrentTime().getYear() - testLDT.getYear();
tmp2 = (temp == 1);

rdm. decodeButtonInput ( )

testLDT = LocalDateTime.now();

temp = rdm.getTimeKeepingCurrentTime().getYear() - testLDT.getYear();
tmp3 = (temp == 0);

rdm. decodeButtonInput ( );

rdm. decodeButtonInput( )3

testLDT = LocalDateTime.now()

temp = rdm.getTimeKeepingCurrentTime().getMonth().getValue() - testLDT.getMonth().getValue();
tmpd = (temp == 1);




02. Set Timer

@Test
setTimer() {
Timer timer = Timer()
LocalTime standard = LocalTime.of(
timer.setCurrentTime(standard)

assertTrue(timer.getCurrentTime().getHour() == standard.getHour() &&
timer.getCurrentTime().getMinute() == standard.getMinute() &&
timer.getCurrentTime().getSecond() == standard.getSecond())




03. Start Timer

CHE
StartTimer() InterruptedException {

Timer timer = Timer()

LocalTime standard = LocalTime.of(
timer.setLeftTime(standard)

timer. countDown()

TimeUnit.SECONDS.sleep(2)
assertTrue(timer.getLeftTime().isBefore(standard))




04. Pause Timer

CLE

PauseTimer() InterruptedException {
Timer timer = Timer()
LocalTime standard = LocalTime.of(
timer.setLeftTime(standard)
timer.countDown()
TimeUnit.SECONDS.sleep(3)
timer.pauseTimer()
TimeUnit.SECONDS.sleep(3)
assertEquals(timer.getLeftTime().getSecond()

LocalTime.of ( ) .getSecond())




05. Reset Timer

@Test
ClearTimer() InterruptedException {

Timer timer = Timer()

LocalTime standard = LocalTime.of(

timer.setCurrentTime(standard)

timer.setLeftTime(LocalTime.of( ))

timer.resetTimer()

assertTrue(timer.getCurrentTime().getHour() == timer.getlLeftTime().getHour() &&
timer.getCurrentTime().getMinute() timer.getLeftTime().getMinute() &&
timer.getCurrentTime().getSecond() timer.getLeftTime().getSecond())




06. Notify the end

@Test
NotifyTheEndOfTimer(){
Timer timer = Timer()

RDMSystem rdm = RDMSystem()
(timer.getLeftTime().equals(timer.getEndTime())){
assertTrue(rdm.getBeep().isActivated())




07. Start Stopwatch

@Test
startStopwatch() InterruptedException {
RDMSystem rdms = RDMSystem()
rdms .decodeButtonInput ( )
rdms.decodeButtonInput( )

StopWatch sw = (StopWatch)rdms.getAllMode() [1]

TimeUnit.SECONDS.sleep(3)
assertTrue(sw.getStartTime().isAfter(LocalTime.of( )))




08. Pause Stopwatch

@Test
pauseStopwatch() InterruptedException {
RDMSystem rdms = RDMSystem()
StopWatch sw = (StopWatch) rdms.getAllMode() [1]
rdms . decodeButtonInput( )
rdms.decodeButtonInput( )

LocalTime start = sw.getStartTime()
rdms.decodeButtonInput(

LocalTime stop = sw.getStartTime()

TimeUnit.SECONDS.sleep(3)

assertTrue(start.getHour() == stop.getHour() &&
start.getMinute() == stop.getMinute() &&
start.getSecond() == stop.getSecond())




09. Record Lap Time

@Test

recordLapTime() InterruptedException {
RDMSystem rdms = RDMSystem()
StopWatch sw = (StopWatch)rdms.getAllMode() [1]
rdms .decodeButtonInput ( )
rdms . decodeButtonInput ( )

TimeUnit.SECONDS. sleep(3)

rdms . decodeButtonInput(

rdms.decodeButtonInput (

LocalTime lap = sw.getLapTime(®)

LocalTime cur = sw.getStartTime()

assertTrue(lap.getHour() == cur.getHour() &&
lap.getMinute() == cur.getMinute() &&
lap.getSecond() == cur.getSecond())




10. Clear Stopwatch

@Test
clearStopwatch() InterruptedException {
RDMSystem rdms = RDMSystem()
StopWatch sw = (StopWatch)rdms.getAl11Mode() [1]
rdms.decodeButtonInput( )
rdms.decodeButtonInput( )

TimeUnit.SECONDS.sleep(3)

rdms.decodeButtonInput( )
assertTrue(sw.getStartTime().isAfter(LocalTime.of(
rdms.decodeButtonInput( )

LocalTime temp = sw.getStartTime()

assertTrue(temp.getHour() == 0 &&
temp.getMinute() == 0 &&
temp.getSecond() == 0)




11. Activate alarm

@Test

| activateAlarm() {
RDMSystem rdm = new RDMSystem();
Alarm al = new Alarm()
(al.getStaticTime().getIsActivated() && al.getStaticTime().getAlarmTime().isBefore(LocalTime.now())){
assertTrue(rdm.getBeep().isActivated());




12. Deactivate Alarm

@Test
deactivateAlarm() {
RDMSystem rdm = RDMSystem()
Alarm al = new Alarm()
f(!lal.getStaticTime().getIsActivated() && al.getStaticTime().getAlarmTime().isBefore(LocalTime.now())){
assertFalse(rdm.getBeep().isActivated())




13. Set Alarm

@Test
ul | increase() {
RDMSystem rdm = new RDMSystem()
if((rdm.getCurrentMode() stanceof Alarm) && rdm.getIsSelectMode()){
LocalTime beforeTime = ((Alarm)rdm.getAlWMode() [3]).getStaticTime().getAlarmTime()

rdm.decodeButtonInput ( i

assertEquals(((Alarm)rdm.getAlWMode() [3]).getStaticTime().getAlarmTime(), beforeTime.plusHours(1));

@Test

pub1 decrease() {

RDMSystem rdm = new RDMSystem()

if((rdm.getCurrentMode() inst of Alarm) && rdm.getIsSelectMode()){
LocalTime beforeTime = ((Alarm)rdm.getAlWMode() [3]1).getStaticTime().getAlarmTime();
rdm.decodeButtonInput( )
assertEquals(((Alarm) rdm.getAlWMode() [3]).getStaticTime().getAlarmTime(), beforeTime.minusHours(1))




14. Switch Alarm

@Test
switchAlarm() {
RDMSystem rdm = RDMSystem()
Alarm = Alarm()
(rdm.getCurrentMode() Alarm && 'rdm.getIsSelectMode()){
beforeIndex = ((Alarm)rdm.getAllMode()[3]).getIndex()
rdm.decodeButtonInput( )
assertEquals(((Alarm)rdm.getAl1Mode()[3]).getIndex() beforeIndex+1)




15. Notify Alarm

@Test
notifyAlarm() ParseException, InterruptedException {
RDMSystem rdms = RDMSystem()
Alarm alarm = (Alarm)rdms.getAllMode()[3]
StaticTime st = alarm.getAlarmList(
st.setIsActivated( )
st.setAlarmTime(LocalTime.of(
Beep beep = rdms.getBeep()
assertFalse(beep.isActivated())
DateFormat dateFormatter = SimpleDateFormat(

Date date = dateFormatter.parse( )

java.util.Timer timer = java.util.Timer()

TimerTask timerTask = TimerTask() {

run() {
assertTrue(beep.isActivated())

.cancel()

timer.schedule(timerTask date)




16. Set Case Number

@Test
setCaseNumber()

DecisionMaker dm = DecisionMaker()
dm.setCaseNum(10)
assertSame(dm.getCaseNum()




17. Get Case

@Test

getCase()

DecisionMaker dm = DecisionMaker()

dm.setCaseNum(10)
( 1= i< i++) {

caseNum = dm.getCase()
assertTrue( caseNum <= && caseNum >= @)




18. Switch city

@Test
chooseCity() {
WorldTime wt = WorldTime ()
wt.upIndex()
assertTrue(wt.getCity().equals(
wt.downIndex()
assertTrue(wt.getCity().equals(




19. Switch Current Mode

@Test
changeCurrentMode()

MDWSvSTEN rdms = RDMSystem()
rdms.changeCurrentMode()

assertTrue(rdms.getCurrentMode()

StopWatch)




20. Select Modes

@Test
selectModes() {
RDMSystem rdms = RDMSystem()

0

rdms.selectMode( )

assertTrue( rdms.getIsAvailable()[




21. Activate Beep

@Test
activateBeep() {
Beep beep = Beep()
beep.beepStart()
assertTrue(beep.isActivated())
beep.deactivateBeep()




22. Deactivate Beep

CHEE

deactivateBeep() {
Beep beep = Beep()

tmp =
beep.beepStart()
tmp = beep.isActivated()
beep.deactivateBeep()
assertTrue( tmp && !'beep.isActivated() )




2053.
2050 Traceability Analysis
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